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Resistors in Series

Inztructions:

In the: simulation to the right you have to selact the correct 1 kohms 2 kohms 3 kohms 5 kohms 10 kohms

resisitor to complete the circuit in order that the current will
be equal to that given in the question.

In order to complete the task you wil need to determine the 3.0 kohms
total resistance of the circuit and then use the rules for
combining resistors to waork backwards to find out what the

unknawr resistor must be. ‘ |

17.6Y

Help
“f'ou are given the B resistors in the box at the top.

Dirag the conect resistor into the circuit so that the current is |

|@ Done ’_ ’_ |_£‘ My Computer
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